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FOREWORD

The National Examinations Council of Tanzania is pleased to issue the
Candidates’ Item-Response Analysis (CIRA) report in Information and Computer
Studies for the Certificate of Secondary Education Examination (CSEE) 2019.
The analysis provides feedback to the students’, teachers, parents, policy makers
and other education stakeholders on how the candidates’ attempted the questions.

The Certificate of Secondary Education Examinations marks the end of the four
years of secondary education. It is a summative evaluation which, shows, among
other things, the effectiveness of the education system in general and education
delivery system in particular. Essentially, the candidates’ responses are strong
indicator of what the education system has been able or unable to offer to the
candidates in their four years of ordinary secondary education.

The analysis presented in this report is intended to contribute towards
understanding of the reasons for the candidates’ good and poor performance. The
reasons for good performance include sufficient knowledge of the content in the
topics tested and correct interpretation of the questions. The reasons for some
candidates’ poor performance include wrong interpretation of the requirements of
the questions, lack of practical skills in responding to the questions and
inadequate knowledge on the materials taught under the tested topics.

The feedback provided in this report will enable our educational administrators,
school managers, teachers and the students to identify measures to be taken in

order to improve the candidates’ performance in future examinations.

Finally, the Council would like to thank everyone who participated in the
preparation of this report.

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report presents an evaluation of the candidates’ performance in the 2019
Information and Computer Studies Certificates of Secondary Education
Examination (CSEE). The examination assessed the knowledge and
competences acquired by the candidates at the ordinary level of education.
The examination was set according to the approved examination format
which was developed in accordance with the 2005 Information and Computer
Studies syllabus for Ordinary Level Secondary Education.

The examination had two papers, Information and Computer Studies 1
(Theory) and Information and Computer Studies 2 (Practical). The theory
part of the paper had three (3) sections A, B and C. Section A consisted of
two (2) objective questions with ten items from question one (1) and five
items from question two (2). Section B had eight (8) short answer questions.
All questions in sections A and B were compulsory. Section C had two (2)
optional essay type questions. The candidates were asked to attempt one (1)
question in that section. The practical part of the paper had three (3)
questions with 25 marks each. The candidates were required to attempt two
(2) questions.

A total of 2,786 candidates sat for the Information and Computer Studies
examination in 2019. Out of these candidates, 2,018 (72.4%) passed the
examination and 768 (27.6 %) failed. In 2018, a total of 2,820 candidates sat
for the Information and Computer Studies examination. Of these candidates,
2,368 (86.1%) passed and 382 (13.9%) failed. This means that there was a
decrease in performance by 13.7 per cent in 2019.

This report provides feedback to education stakeholders on the candidates’
performance; showing both candidates’ strengths and weaknesses. The
candidates’ performance on each question/topic has been categorized using
the ranges of 0 to 29 (poor performance), 30 to 64 (average performance) and
65 to 100 (good performance). These intervals stand for the per cent of the
candidates who scored 30 per cent or above of the marks allocated to
different questions. In this report, the candidates’ performance is presented in
different charts in which red colour stands for poor performance, yellow
colour for average performance and green colour for good performance.
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2.0

The analysis of the candidates’ performance is done by showing the
requirements of the questions, what the candidates wrote and the mistakes
they made while attempting the questions. Furthermore, the extracts from
candidates’ responses are provided for easy reference. Finally, the report
presents conclusions and recommendations.

ANALYSIS OF THE CANDIDATES’ RESPONSE PER QUESTION
IN PAPER 1

2.1 Question 1: Multiple choice Items

This question consisted of ten (10) multiple choice items which were
composed from the following topics: Computer Evolution, Database as
Information System, Computer Handling, Presentation, Computer
Hardware, Computer Software, Word Processing, Web Designing and
Computer Networking.

All 2,786 (100%) candidates attempted this question. Of whom 241 (8.7%)
scored 0 to 2.5 marks, 1,919 (68.9%) scored 3 to 6 marks and 626 (22.5%)
scored 6.5 to 10 marks out of the 10 marks allocated. Figure 1 presents the
candidates' performance on this question.

Scores
m0)-25
3.0-6.0
m65-10

68.9%

Figure 1: The candidates' performance on question 1.

The general performance on this question was good because 91.3 per cent
scored above 2.5 marks as shown in Figurel. The majority of the
candidates were able to choose the correct answers in most of the items.
This indicates that the candidates had adequate knowledge on the topics
tested in this question. However, the analysis carried out from the scripts of

2



the candidates signified that the candidates who failed to score high marks
had problems in items (ii), (iii), (v) and (viii).

Item (ii) stated that the database object that enables you to view and print
data from a database table in a chosen appearance is called:

A aform. B aquery.
C amacro. D atable.
E areport.

The correct answer was E, a report. Other alternatives were not correct
because A, a form is a visual display that resembles a usual form used to
enter data or view records from a table. B, a query is a statement used to
request information from the table. C, a macro is a database object which is
used to automate some operations such as displaying table while option D,
a table is the structure used to store items in relational database. This shows
that, the candidate who wrote wrong answers did not know the function of
the report in the database.

Item (iii) stated that the problem of eye strain which is caused by spending
a lot of time on using computers can be minimized by:-

A taking regular breaks and using antiglare screen.

B  using adjustable monitor stands and keyboards.

C adopting a healthy sitting style.

D drinking sufficient amount of juice every day.

E using adjustable chair and footrest.

The correct answer was A, taking regular breaks and using antiglare
screen. Majority of the candidates chose other alternatives which were
wrong. The candidates who chose wrong alternatives did not understand
that, option C, D and E had nothing to do with the problem of eye strain but
rather, helping other parts of the body such as backbone, waist and legs.
This shows that the candidates lacked knowledge on computer handling
and security.

Item (v) read as follows: Which keyboard keys are referred to as special
purpose keys in a personal computer?
A  F1,F2,F3uptoF12 B AtoZ Tab, Capslockand0-9



C Arrow keys, Tab and Home key D Shift, Ctrl, Alt and Esc
E DEL, Backspace and Pg — Dn

The correct answer was D, Shift, Ctrl, Alt and Esc. Other alternatives were
wrong because option A, F1, F2, F3 up to F12 are functional keys. Option
B, Ato Z, Tab, Caps lock and 0 — 9 were incorrect because Ato Zand 0 -9
are keys for entering text and for numeric entry respectively, Tab for tab
setting and caps lock for toggle between upper and lower case. Option C,
Arrow keys, Tab and Home keys for direction, tab settings and navigation
to home screen. E, DEL, Backspace and Pg — Dn are keys used for deleting
and page scrolling. This signifies that the candidates are not familiar with
the different keys of the keyboard.

Item (viii) stated that which tag would you use to emphasize the heading of
the article in the webpage?

A <head></head> B <title></title>

C <hr></hr> D <hl></h1>

E <th></th>

The correct answer was D, <hl></hl1>. However, majority of the
candidates chose other alternatives. The candidates' responses were wrong
because option A, <head></head> marks the header part of the page.
Option B, <title></title> gives title of the webpage. Option C, <hr></hr>
creates horizontal line while option E <th></th> is a tag for creating the
table header. This indicates that the candidates who selected wrong options
had insufficient knowledge.

2.2 Question 2: Matching Items

In this question, the candidates were required to match the descriptions of
text alignment used in Microsoft Word in List A to their corresponding
types of alignments in List B by writing the letter of the correct answer
beside the item number in the answer booklet provided. The question was
intended to measure the candidates’ ability to identify different types of text
alignment in Microsoft word.



LIST A

LIST B

(i)

(ii)

(iii)

(iv)

v)

Lines of text lined up equally
along the left margin but
unequally at the right margin.

Lines of text lined up equally
along the right margin but
unequally at the left margin.

Lines of text arranged equally
along both left and right
margin

Lines of text arranged equally
along both left and right
margin even if a line has only
few words.

The lines of text kept at the
middle unequally between the
left and right margins.

I oG M m oo @ >

Hanging alignment
Justify alignment
First line alignment
Centre alignment
Left alignment

Full alignment
Right alignment

Force justified alignment

A total of 2,785 (100%) candidates attempted this question, out of whom
455 (16.3%) scored 0 to 1 marks, 1,657 (59.5%) scored 2 to 3 marks and
673 (24.2%) scored 4 to 5 marks out of the 5 marks allocated. Figure 2

presents the candidates' performance on this question.

59.5%

Scores
m)-1

2-3

m4-5

Figure 2: The candidates' performance on question 2.
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Figure 2 shows that 2,330 (83.7%) of the candidates scored from 2 to 5 and
therefore, the general performance in this question was good. This
performance could be attributed to the fact that the candidates were familiar
with the Microsoft word text alignments.

The analysis carried out on the scripts of the candidates revealed that the
candidates who failed to score high marks faced difficulties in answering
items (iii) and (iv).

Item (iii) required the candidates to identify lines of the text arrangement
equally along both the left and right margin. The correct answer was B,
Justify alignment but some candidates chose incorrect options. Most of
them chose option F, full alignment. This signifies that the candidates made
direct translation to the term “full alignment”.

Item (iv) required the candidates to identify lines of the text arranged
equally along both the left and right margin even when a line had only a
few words. The correct answer was H, Force justified alignment. Most of
the candidates chose incorrect options. Some candidates who chose option
B, justify alignment could not differentiate between the effect of “justify”
and “force justified” alignment. The candidates who chose C, first line
alignment failed to understand that, “first line alignment” is not a type of
alignment in Ms-word. This indicates that, the candidates lacked
knowledge on the formatting text in Microsoft word.

2.3 Question 3: Jumbled Questions

In this question, the candidates were required to re-arrange the given
sentences in sequential order beginning with the first step to the last step.
The question intended to measure the candidates’ ability to apply the
knowledge of internet on composing and sending an email. The following
steps were given.

Type the message in the text box.

Type the recipient address or get it from the address book.

Click the send button.

Click the compose button.

Type the subject of the message.

mogogoOw>»
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The statistics show that 2,749 (98.7%) candidates attempted this question.
Out of whom 672 (24.4%) scored 0 to 1 marks, 1,263 (45.9%) scored 2 to 3
marks and 814 (29.6%) scored 4 to 5 marks out of the 5 marks allocated.
Figure 3 presents the candidates' performance on this question.

Scores
m0-1

2-3
m4-

N

45.9%

Figure 3: The candidates' performance on question 3.

Figure 3 illustrates that the performance of the candidates on this question
was good as 74.6 per cent scored from 2 to 5 marks as shown in the figure
3. The candidates gave correct steps of composing and sending an email
because they were able to arrange the letters according to the requirements.
Apart from good performance, some of the candidates failed to write the
first step. The candidates wrote step E, type the subject of the message as
the first step instead of “Click the compose button”. Other candidates
started with A, type the message in the text box. This made them lose the
marks. These also lost some marks

However, some of the candidates gave correctly first and last step, but
failed to arrange middle steps.

2.4 Question 4: Desktop Publishing Software (DTP)
This question had three parts, (a), (b) and (c). The question required the
candidates to:
(a) Identify the software required to prepare an invitation card and a
monthly calendar as well as to give the reason.



(b) Identify the steps required to follow when inserting the date in the
invitation card.

(c) Write four publications apart from invitation cards and a monthly
calendar that can be designed by using the software mentioned in part

(@).

This question was attempted by 2,767 (99.3%) candidates. Out of whom
357 (12.9%) scored 0 to 2.5 marks, 1,984 (71.7%) scored 3.0 to 6.0 marks
and 426 (15.4%) scored 6.5 to 10 marks out of the 10 marks allocated.
Figure 4 presents the candidates' performance on this question.

Scores
m)-25

3-6
mo5-10

Figure 4: The candidates' performance in question 4

The general performance on this question was good because 87.1 per cent
of the candidates scored above 2.5 marks. The analysis showed that
(15.4%) candidates who scored high marks 6.5 to 10 managed to identify
the required software that can be used to prepare an invitation card and a
monthly calendar. They also provided correct reason for their choice in part
(a). These candidates identified correctly four publications apart from
invitation cards and the calendar in part (b). Some candidates could not
write all the steps to be followed in order to insert data in the invitation
cards. Hence, they lost some marks. Others wrote correct steps for inserting
data in the invitation card with incorrect reasons for using publication
software to prepare an invitation card in part (a). A few candidates wrote
letters and memos as publications designed by publication software in part
(c). This indicates that the candidates could not differentiate between
publications designed by word processors from Desktop Publisher
software. Extract 4.1 presents a sample of a good response.
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Extract 4.1: A sample of correct answer on question 4.

The responses of a candidate provided in Extract 4.1 shows that the
candidate managed to write "Microsoft publisher” as a publication software
to prepare invitation cards and calendars in part (a). Also, the candidate
wrote correctly the steps to follow in order to insert the date in an invitation
card in part (b). In part (c), the candidate managed to write publications that
can be designed using Microsoft publisher.

Furthermore, (71.7%) of the candidates who scored average marks (3 to 6)
wrote correctly the software required to prepare an invitation card and a
calendar but failed to give the reason for their choice. Most of them wrote
examples of the publication software instead of the advantages of using
publication software in part (a). In part (b), the candidates gave incomplete
steps for inserting the date in the invitation card. Some of them failed to
outline all the steps required for inserting date in the invitation card. It was
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observed that most of them failed to write correctly the first step “position a
cursor where you want to insert data”. They also did not write the last step
“click OK”. This indicates that the candidates had insufficient knowledge
on Microsoft publisher. Some of them mixed up steps of inserting date in
publisher designing body part with the header/footer part. For example, one
candidate wrote Insert 2>header/footer ->date/time 2ok. In part (c), most of
the candidates gave four correct publications but some of them gave
correctly only three publications.

On the other hand, (12.9%) of the candidate who scored low marks from 0
to 2.5 wrote correctly the software required to prepare an invitation card
and a calendar but they failed to give the reason for choosing such a
software in part (a). Some of the candidates wrote other application
software such as Ms-word, Ms-access or notepad. This shows that the
candidates were not familiar with publication software. However, the
candidates failed to write steps for inserting the date in the invitation card
in part (b). They wrote few publications designed by publication software
in part (c). Some of the candidates repeated the same type of publications.
For example, one candidate wrote Award certificate and Academic
certificate. This led them to lose some marks. Extract 4.2 presents a sample
of such incorrect responses.
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Extract 4.2: A sample of an incorrect answer to question 4.

J

10



The responses of a candidate provided in Extract 4.2 shows that the
candidate who wrote Microsoft word instead of Desktop Publisher software
in part (a). In part (b), the candidate wrote parts of the date instead steps for
inserting the date in invitation cards. In part (c), the candidate managed to
write identity card as a publication but failed to write other publications.

2.5 Question 5: Computer Networking and Communication

This question had two parts, (a) and (b). The candidates were required to
study the given Figure that represented network topology used by a certain
company.

The asked questions were:

(@) What is the type of the network topology used by the company?
Explain three disadvantages of using that kind of network.

(b) Suggest proper type of network topology that will help the company
to address three advantages that a company will get using the
proposed topology.

This question was attempted by 2,764 (99.2%) candidates out of whom
1,748 (63.2%) scored 0 to 2.5 marks, 747 (27.0%) scored 3 to 6 marks and
269 (9.7%) scored 6.5 to 10 marks out of the 10 marks allocated. The
general performance in this question was poor because 63.2 per cent of the
candidates scored below 3 marks. Figure 5 presents the candidates'
performance for this question.
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Scores
m()-25
3-6
m5.5-10

Figure 5: The candidates' performance on question 5.

Majority of the candidates (63.2%) who scored low marks (0 to 2.5)
identified correctly the type of network topology used by the company in
part (a), but failed to explain its disadvantages. Some of the candidates
wrote disadvantages of using the internet instead of ring topology. For
example, one candidate wrote easy spread of virus, it is very costful, no
privacy of data. This indicates that the candidates did not understand the
demand of the question. In part (b), the candidates managed to suggest the
proper network topology that would help the company but they failed to
address the advantages of the suggested network topology. Some of the
candidates explained advantages of networking instead of star topology.
For example, one candidate wrote sharing of resources, allow
communication and cover large geographical area. Extract 5.1 presents a
sample of such incorrect responses.
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Extract 5.1: A sample of an incorrect answer on question 5.

The responses of a candidate provided in Extract 5.1 show that the
candidate wrote type of networking, LAN instead of ring topology hence,
the candidate failed to write disadvantages of ring topology in part(a). The
candidate also wrote types of network in part (b) instead of network
topology.

Moreover, (27.0%) of the candidates who scored average marks (3 to 6)
gave the correct name of the network topology used in the company and
explained its disadvantages in part (a). The candidates suggested correctly
the network topology that would help the company but failed to address
advantages the company will get by using such a topology in part (b). Some
of the candidates wrote advantages of other network topology like bus or
star topology while others mixed up the advantage of star topology and
local area network (LAN). For example, one candidate wrote star topology
covers small geographical area. This signifies that the candidates could not
differentiate between types of networking that means LAN, MAN and
WAN and physical arrangement of computers in a network topology.
Others stated correctly the type of network topology but failed to write its
disadvantages in part (a).

On the other hand, a few candidates (9.7%) who scored high marks from
6.5 to 10 managed to name the type of network topology and explained
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correctly the disadvantages of that particular network topology in part (a).
Some of the candidates mixed disadvantages of ring topology with other
types of topology. For example, one candidate wrote, Every node have
connection to every other node which is the disadvantages of mesh
topology and not ring topology. This led them to lose some marks. In part
(b), the candidates were able to suggest the proper network topology and
give the advantages of the proposed topology. But, some of the candidates
did not score all the marks as they wrote advantages of networking instead
of star topology. Extract 5.2 presents a sample of such a response.
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Extract 5.2: A sample of a correct answer in question 5.

The responses of a candidate provided in Extract 5.2 show that the
candidate managed to write the required type of network topology used by
the company. Also, the candidate wrote correctly the disadvantages of
using such topology in part (a). In part (b), the candidate wrote proper type
of topology and its advantage to the company.
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2.6 Question 6: Spreadsheet

This question had four parts; (a), (b), (c) and (d). The candidates were
required to study the given worksheet and answer the questions that follow;

A B C D E F G H )
[« ]
o
b =
2 Bl 2| = z
(7] ; i E ™ @)
J (] = E = [
= S| 2| & 3 =
= | | | 2| | E| 2| 2
% o -1 o
1 7 7, ~ &) &) = - &) &
2 1 |Adallah 68 64 60 69 | 653 B 2
3 2 |Ally 50 45 52 68 | 53.8 C 5
4 3 |Angel 35 40 36 62 | 433 C 7
5 4 |Tsmail 45 50 40 67 | 505 C 6
6 5 |Issal. 58 65 80O 57 65 B 3
7 6 |Jema 65 70 61 58 | 63.5 C 4
8 7 |Rachel 98 75 85 80 | 84.5 A 1

Hints: (The grade is “A” if the average is >= 75, “B” if the average is >= 64
and “C” if the average is >=45)
The asked questions were;

(@ Which steps would you follow to align the heading in worksheet
vertically?

(b) Suppose you want to validate the marks to be entered by a user to
whole number from 0 to 100 inclusive; which steps would you
follow to accomplish this task?

(¢) Which functions were used to assign grade and position?

(d) Which function was used to calculate the average marks?

A total of 2,726 (97.8%) candidates attempted this question. Among them,
1,566 (57.4%) scored 0 to 2.5 marks, 1,035 (38.0%) scored 3 to 6 marks
and 125 (4.6%) scored 6.5 to 10 marks out of the 10 marks allocated. The
general performance for this question was average because 42.6 per cent of
the candidates scored above 2.5 marks. Figure 6 presents the candidates'
performance in this question.
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Scores

m0-25
3-6

m65-10

38.0%

Figure 6: The candidates' performance on question 6.

The analysis showed that (57.4%) of the candidates who scored low marks
0 to 2.5 in part (a) did not list the steps required to align the heading
vertically in the worksheet. Some of the candidates gave correctly only the
first step while other responses were incorrect. Likewise, in part (b), most
of the candidates wrote wrong steps to validate the marks entered by a user
from 0 to 100 inclusive. Some candidates wrote click home page —open
database -validation rule. This implies that the candidates failed to
distinguish steps of data validation in Ms Access from Ms Excel. In part
(c), the candidates failed to write the functions required to assign grades
and position. Some of the candidates used “GRADE” as a function name to
assign grades instead of “IF”. This indicates that the candidates lacked
knowledge on the spreadsheet functions. In part (d), majority of the
candidates wrote correctly the function required to calculate on average
marks. Some of the candidates gave incorrect function name. For example,
one candidate wrote, =AVG(C2:F2) instead of =average(C2:F2) while
others did not write an equal sign “=". This indicates that the candidates
lacked practical skills on spreadsheet. Extract 6.1 presents a sample of
incorrect responses.
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Extract 6.1: A sample of an incorrect answer on question 6.

In extract 6.1, the candidate wrote the steps for inserting header in a
worksheet in part (a), instead of starting with highlight the cells that would
be affected by the changes. The candidates also wrote wrong cell reference
in assigning grade. However, the candidate managed to start the function
with an equal sign but failed to write the correct function name and
argument in part (d).

On the other hand, the candidates who scored average marks (3 to 6) listed
some of the steps required to align the heading vertically and to validate
marks in part (a) and (b). They also wrote correctly functions used to assign
grades but failed to write the correct function name to assign position in
part (c). Some of the candidates wrote function name as “position” in
assigning grades instead of “Rank”. For example one of the candidates
wrote, =position(G2; $G$2:$G$8). Instead others wrote the correct
function name but failed to write dollar sign which defined the range of the
data. This indicates that the candidates did not know the importance of the
dollar sign in the rank function.

Further analysis showed that the candidates (4.6%) who scored high marks
(6.5 to 10) were able to list the correct steps in parts (a) and (b). However,
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some of the candidates could not score all marks because they failed to use
correct reference cells in parts (c) and (d). Other candidates wrote the
function without including an equal sign which is necessary to every
formula and function in spreadsheet. Extract 6.2 provides a sample of good
responses.
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Extract 6.2: A sample of a correct answer on question 6.

The responses of a candidate provided in extract 6.2 show that the
candidate wrote correctly all the required steps in parts (a) and (b). The
candidate also identified correctly the cell reference, function name and
argument for grade, position and average.
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2.7 Question 7: Computer Evolution

This question had three parts (a), (b) and (c) with the following questions:

(a) Differentiate digital computers from analog computers.

(b) By giving two examples, explain special purpose computers.

(c) The headmaster of a certain secondary school preferred to buy a
computer for his office activities. Based on the advice given, he
decided to buy a supercomputer. As an IT expert, do you think the
headmaster got the correct advice? Give two reasons for your
answer.

The statistics of performance show that the question was attempted by
2,750 (98.7%) candidates, out of whom 1,088 (36.9%) scored 0 to 2.5
marks, 772 (28.1%) scored 3 to 6 marks and 890 (32.4%) scored 6.5 to 10
out of the 10 marks allocated. The general performance for this question
was good because 60.5 per cent of the candidates scored above 2.5 marks.
Figure 7 presents the candidates' performance for this question.
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Figure 7: The candidates' performance on question 7.
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The analysis carried out in the candidates scripts showed that (36.9%) of
the candidates who scored low marks 0 to 2.5 in part (a) were able to
differentiate digital computers from analog computers. Some of the
candidates concentrated only on drawing diagrams without giving
explanations. This indicates that the candidates had inadequate knowledge
on computer evolution. Others differentiated digital from analog computers
based on time period without giving a clear meaning of the terms. For
example, one candidate wrote, digital computers are advanced technology
used in current years while analog computers are old over. This led them
to lose some marks. In part (b), some of the candidates explained correctly
the term "special purpose™ computers but failed to provide examples of
special purpose computers. They wrote other types of computers such as
supercomputer, mainframe, minicomputer or microcomputer instead of
calculators, mobile phones or robots. In part (c) the candidates accepted
that supercomputer was a correct choice to the headmaster but failed to
give reasons. This indicates that the candidates had insufficient knowledge
on the functions of supercomputer. Extract 7.1 presents a sample of an
incorrect response.
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Extract 7.1: A sample of an incorrect answer on question 7.
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The responses of a candidate provided in Extract 7.1 shows that the
candidate wrote wrong differences between digital and analog computers
and failed to explain about special purpose computer. The candidate gave
correct advice to the headmaster with wrong reasons.

However, the candidates who got an average marks (3 to 6) in part (a) were
able to differentiate digital computers from analog computers. Some of the
candidates interchanged the meaning of digital computers into analog
computers. They explained that digital computer is in continuous form and
not discrete in nature. This indicates that the candidates had insufficient
idea on digital and analog computers. Further analysis showed that in part
(b) the candidates explained correctly the term "special purpose computer"
but failed to give two examples required. Others were able to give correct
examples with incorrect explanations of the term “special purpose
computer”. Some of the candidates failed to understand the requirement of
the questions. They wrote purposes of using computer instead of giving the
meaning of special purpose computer. For example, one of the candidates
wrote computer is used for communication, searching material, simplify
work etc. In part (c), most of the candidate managed to state that the
headmaster got wrong advice when he decided to buy supercomputer but
failed to give reasons. Some of the candidates focussed on the general
characteristics of supercomputer which were irrelevant to the question. For
example, the candidates wrote, it has high speed and the processor used is
big in capacity. The candidates should know that the headmaster cannot
afford to buy a supercomputer because it is designed to process complex
calculation and not for normal office activities.

On the other hand, the candidates who performed well (6.5 to 10) in part (2)
were able to state clearly the difference between digital computers and
analog computers. Some of the candidates wrote that, digital computer
process data which is discrete in nature while analog computers process
data that are continuous form. Some of the candidates explained correctly
the meaning of special purpose computers but they could not give the
correct examples of special computers. For example, one of the candidates
gave the examples of scanner and printer instead of calculator, digital
watch, etc. Other candidates who wrote smart phones did not know that

smart phones conduct many tasks including communication, recording,
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searching and downloading of data, etc. In part (c), most of the candidates
managed to give the correct advice to the headmaster and provided the
correct reasons for their suggestions/advice. However, some of the
candidates failed to score all marks because they gave insufficient
explanations. Extract 7.2 shows a correct response from one of the
candidates.
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Extract 7.2: A sample of a correct answer on question 7.

Extract 7.2 shows a response of a candidate who differentiated analog
computers from digital computers. The candidate managed to explain
correctly the special purpose computers and was able to advise the
headmaster with correct reasons.

2.8 Question 8: Database as Information System

This question had three parts, (a), (b) and (c) with the following sub
questions:
(a) Differentiate each of the following concepts as used in databases;
(i) Validation rule and validation text.
(i) Select query and Action query.
(b) An electronic database depends on a Database Management System
(DBMS). Why do you think the DBMS is important software in
developing electronic databases?
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(c) Consider you have been given a database that is not safe due the lack
of protection. Which steps you would use to protect a database by
using a password?

The statistics showed that 2,616 (93.9%) of the candidates attempted this
question, of which 2,018 (77.1%) scored 0 to 2.5 marks, 571 (21.8%)
scored 3 to 6 marks and 27 (1.0%) scored 6.5 to 10 marks out of thelO
marks allocated. Figure 8 summarizes the candidates' performance for this
question

1.0%

Scores

m0-25
3.0-6.0

m65-10

Figure 7: The candidates' performance on question 7.

The general performance of the candidates in this question was poor
because 77.1 per cent scores below 3 marks. Majority of the candidates
(77.1%) who scored low marks (0 to 2.5) in part (a) (i) failed to
differentiate between the term "validation rule™ and "validation text". Some
of the candidates explained validation rule as a password in the database.
They also failed to distinguish between select query and action query in
part (a)(ii). Most of the candidates interpreted to the terms correctly. For
example, one candidate wrote Action query is the query that does action to
the information. In part (b), some of the candidates managed to write the
importance of database management system (DBMS) but not in detail. This
shows that the candidates had partial understanding of the database which
led them to lose some marks. In part (c), the candidates failed to write steps
to protect database by using a password. Extract 8.1 provides a sample of
such incorrect responses.
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Extract 8.1: A sample of an incorrect answer on question 8.

In extract 8.1, the candidate was not able to differentiate between
"validation rule” and "validation text". The candidate also gave wrong
explanation on the importance of DBMS as well as the steps that would be
taken to protect a database by using a password.

On the other hand, the candidates (21.8%) who scored average marks (3.5
to 6) were able to give correct responses on part (a) and (b). Some of the
candidates did not get all the marks in part (a) because they gave
unsatisfactory explanations on the difference between "select” and "action
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query". In part (c), some of the candidates listed wrong steps to be followed
to protect a database by using a password. They mixed-up the steps to be
followed in Microsoft office word with those used in a database. For
example, one candidate wrote, select database tools from the menu bar,
select security then password, type the password from the password text
box , confirm the password from confirm text box, save. Other candidates
had an idea of creating a password to protect database but they failed to
follow all the required procedures in a sequential order. This concludes that
the candidates had inadequate knowledge on database.

Moreover, a few candidates (1.0%) who scored high marks (6.5 to 10)
differentiated correctly the given terms in part (a). The candidates managed
to explain the importance of DBMS in developing database in part (b).
Some of the candidates wrote incomplete steps to protect a database by
using a password in part (c). This led them to lose some marks. Extract 8.2
presents a sample of good responses.

25



ad ™l Solodd avonms W the typo op guery dhal  bge
L~ =4 5

iho L;uﬁclricr) or goarech ooy (vmj anclycineg  dale e
the Llabie in e cx)Ol!c-Bc/&tz.w Emmplo c artlm‘no. vor

pocplo phose  prarcee  odedbe  robh D, [

[NRaLIES

Achon guery A the  kbupe o quory ol Lo the
= A t

+uml=mn o  moling corgohong lc o dade Lpu.-,() "

the dabl in  the akabeso . Thow ar £ —poul Foypes

Updlde, ochen geeny, Appoed achpn m,omonjeﬂobg tobla

nrpibn qguong
A

17) Datobara  Manciagorment  Sucdoro T sroportant pavbo!sz

I'n C‘(Q\DJC[NE(} Otorhbum‘c ({A%\;LJOLQO bacaué 1} QDnL}‘vud;
onomk arme  meirmdains fhe  dedabase s aleo il provicbs

mu,mlu Lo Mo dedabase  Fhie 25 o 1‘m’porlc,mf,c(«,ﬁhmm,

) SLop, te pollon |

o a3t C",Oorv the dodobare  thal 1 would 'oreffod of wrth o
Poﬁcworc[-

File

2 b ot otk en FAsed mwnu e Hho eoou  bar

3. On the Olﬂop O}%Jn tied oot il do Secu (H!q Lovoey (;rm/
ho. dralo J ] ~
tho wolec. bow of pouptnotd  wru o.opno:r

A il onter the claraclors wbach [ bl ee 0e o mrpr}(cd/

7n the pcngguoroj d'rﬂ'(,q bokx  dhen 'exilt ciide pave,

S . 1Tho vemtahen boe el appocr o vomuy  the pcni;,wok_‘]
- T | I

ondeioe  dhem 1 el Clids Q4.

Extract 8.2: A sample of a correct answer on question 8.

Extract 8.2 shows a response of a candidate who gave correct difference in
part (a) and wrote correctly advantage of DBMS in developing database.
Also, the candidate managed to write correct steps to protect database by

using a password.

2.9 Question 9: Web Development

This question had two parts; (a) and (b). The candidates were required to:

(a) State HTML tags which can be used to link
(i) Animage “log.gif”
(if) A page “home.html”
(b) Study the following HTML codes and give the output expected.
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<html>

<body>

<h2> Welcome to the ICT World</h2>
Name:<input type="text" name="uname"><br><br>

Gender:<input type="checkbox" name="unradio" value="Fmale">Female
<input type="checkbox" name="uadio" value="male">Male<br><br>
Married:<input type="radio" name="unradio" value="Female">Yes
<input type="radio" name="unradio" value="Female">No <br><br>

Comments: <br>
<TEXTAREA NAME="Comments" WRAP></TEXTAREA><br><br>

Submit information :<input type="submit" value="Send"><br>

</body>
</html>

The question was attempted by 2,688 (96.5 %) candidates out of whom 414
(15.4%) scored 0 to 2.5 marks, 935 (34.8%) scored 3 to 6 marks and 1,339
(49.8%) scored 6.5 to 10 marks out of the 10 marks allocated.
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Figure 9: The candidates' performance on question 9.

The general performance for this question was good because 84.6 per cent
of the candidates scored above 2.5 marks. The analysis showed that
(49.8%) of the candidates performed well. In part (a), the candidates stated
correctly HTML tags required to link an image “log.gif” and a page
“home.html]”. However, some of the candidates failed to score all marks
because they wrote tags of image and page with a semicolon or colon
instead of an equal sign. For example, one candidate wrote, “<img
src:log.gif>” to link an image instead of <img src = log.gif>. Other
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candidates made mistake on using tag which gives a source of the image;
they wrote “scr” instead of “src”. Furthermore, a few candidates wrote <a
href> instead of <img> to link an image. In part (b), the candidates
managed to display the expected output from the given HTML codes. Some
of the candidates also failed to display text “Welcome to the ICT World” to
the required size <h2>. Others displayed submit button with the value
“submit” instead of the value “send”. This shows that the candidates lacked
practical skills on HTML codes. Extract 9.1 gives a sample of a correct
response for this question.
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Extract 9.1: A sample of a correct answer on question 9.

Extract 9.1 shows a response from a candidate who wrote the correct tags
to link an image and a page in part (a). The candidate also gave the correct
in part (b).
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Further analysis showed that some of the candidates (34.8%) who got
average marks stated an image tag “img” but they could not include the
image source “src¢” to link the image “log.gif”. For example, one of the
candidates wrote <img></img> in part (a). Other candidates managed to
state the required codes to link the page but wrote the incorrect closing tag
</a>. For example, one of the candidates wrote <a href =home.html|>
home</a href> instead of <ahref = home.htmI>home</a>. This indicates that
the candidates lacked practical skills on designing web page by using
HTML codes. In part (b), some of the candidates managed to provide the
expected output but they interchanged checkboxes with radio buttons.
Others explained the terms “log.gif”” and "home.html" instead of giving tags
to link the image and the page. For example, one of the candidates wrote
log.qgif links the image to the webpage and home.html links the page to the
webpage.

Furthermore, (15.4%) of the candidates who performed low marks (0 to
2.5) displayed correctly all texts from the given HTML codes in part (b).
But they failed to state the codes required to link an image “log.gif” and a
page “home.html” in part (a). Some of the candidates wrote <image> to
link an image instead of <img>. Other candidates repeated to write the
same HTML codes provided from the question. This signifies that the
candidates did not understand the requirement of the question. Extract 9.2
gives a sample of a poor response.
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Extract 9.2: A sample of an incorrect answer on question 9.

Extract 9.2 shows the response of a candidate who was not able to write
tags to link an image and a page in part (a). Also, the candidate mentioned
input type, textname and gender type instead of arranging and drawing
them.

2.10 Question 10: Multimedia

This question had three parts (a) and (b) with the following questions:

(a) Form Four students in your neighbour secondary school are expecting
to conduct their graduation ceremony. They are required to give a
presentation on their success in the four years of study in secondary
education. The students asked you to prepare an animated script with a
combination of their pictures, text that describes the pictures and a
background sound related to the content.

(i) What concepts does animated script prepared represent?
(if) Which one out of images, text and sound consumes a small space in
a storage media?
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(b) Explain the usefulness of the combination of pictures, text and sound in
education, public places, industry and medicine.

This question was attempted by 2,686 (96.4%) candidates out of whom
1,926 (71.7%) scored 0 to 2.5 marks, 625 (23.3%) got 3 to 6.0 marks and
135 (5%) scored 6.5 to 10 marks out of 10 the marks allocated. Figure 10
summarizes the candidates' performance for this question.
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Figure 10: The candidates' performance on question 10.

The general performance of the candidates for this question was poor
because 71.7 per cent of the candidates scored below 3 marks. The analysis
carried out in the scripts of the candidates showed that most of the
candidates who scored low marks (0 to 2.5) wrote Power point which is
presentation. The candidates misinterpreted the term “presentation” which
used PowerPoint. The candidates failed to understand that text, animated
pictures and background sound are the key elements of multimedia.
However, in part (a) (ii), some of the candidates wrote image or sound
consume small space in a storage media instead of text. This shows that, the
candidates were not aware with the size of multimedia elements. In part (b),
most of the candidates were able to show the usefulness of multimedia in
education, public places, industry and medicine. However, they failed to
explain in detail how those elements can be applied to solve different
problems related to the given areas. This indicates that the candidates had
insufficient knowledge on multimedia. Extract 10.1 presents the sample of
incorrect responses.
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Extract 10.1: A sample of an incorrect answer on question 10.

Extract 10.1 shows responses of a candidate who failed to give the software
which is used to prepare animated scripts. The candidate wrote video
instead of text as a multimedia element that consumes a small size of a
storage media. The candidate also wrote the uses of computers in
education, public places, industry and medicine instead of multimedia.

Moreover, the candidates who scored average marks (3 to 6.0) wrote in part
(a) multimedia as the concept of animated script prepared. They also wrote
text as the multimedia element which consumes small space in the storage
media out of image and sound. In part (b), the candidates were able to
explain how multimedia helps teachers in teaching subjects but they could
not explain the importance of multimedia in their learning processes. Some
of the candidates explained that multimedia gives good attraction to the
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advertisement in public but they did not explain how the message can be
delivered to the audience. They also had an idea that multimedia increases
production in industry but they failed to explain the means provided by
multimedia to increase production. Other candidates could not understand
the usefulness of multimedia in medicine. For example, one candidate
wrote, it can help patient to use medicine. This shows that the candidates
made a direct translation of the term “medicine” as it is found from the
question.

On other hand, a few candidates who performed well in this question
answered correctly part (a). They also managed to give the correct
usefulness of the combination of picture, text and sound in education,
public space, industry and medicine in part (b). Some of the candidates
gave unsatisfactory explanations on the use of multimedia in medicine. The
candidates wrote explanations based on medicine and diseases.
Furthermore, they failed to relate multimedia and treatment done by the
doctor to the patient. This led them to lose some marks. Extract 10.2
presents a sample of good responses.
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Extract 10.2 shows the response of a candidate who managed to mention
the software that can be used to prepare animated scripts. The candidate
also wrote text as a multimedia element that consumes small size in a
storage device and explained correctly uses of multimedia in education,

Extract 10.2: A sample of a correct answer on question 10.

public places, industry and in medicine.
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2.11 Question 11: The Internet

This was an optional question which required the candidates to explain four
points to support the motion which stated that “Internet causes more harm
to students than benefit”.

This question was opted by 2,677 (96.1%) of candidates, out of whom 308
(11.5%) scored 0 to 2.5 marks, 1,333 (49.8%) scored 3 to 6 marks, 1,036
(38.7%) scored 6.5 to 10 marks out of 10 the marks allocated. Figure 11
presents the candidates' performance for this question.

Scores
m)-25

3.0-6.0
m65-10

Figure 11: The candidates' performance on question 11.

Figure 11 illustrates that, 88.5 per cent of the candidates scored above 2.5
marks. These indicate that the candidates had adequate knowledge on the
topic on internet. The analysis showed that (38.7%) of the candidates who
scored high marks (6.5 to 10) was able to give the correct points required to
support the motion as well as to give correct explanations. Some of the
candidates managed to give the correct points but failed to give the correct
introduction as well as the conclusion. Other candidates wrote the correct
points which supported the motion with correct introduction and conclusion
but failed to give sufficient explanations to all points. A few candidates
repeated all points explained as the conclusion instead of making
conclusion which gives measure to control effect of internet to student.
Extract 11.1 shows a sample of a correct response.
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Extract 11.1: A sample of a correct answer on question 11.

Extract 11.1 shows a response of a candidate who managed to support
correctly the motion. The candidate also gave a correct introduction,
conclusion and explained correctly points in support of the motion “Internet
causes more harm to students than benefit”.

Further analysis showed that (49.8%) of the candidates who got average
marks (3.0 to 6) managed to give some of the points with correct
explanations but failed to write and explain other points. Some of the
candidates focused on explaining the indicators of moral decay instead of
explaining the main points. For example, one of the candidates wrote
pornography, drug abuse, dressing style, hair style and abusive language as
the main points. This led them to lose some marks. Others mentioned
points with insufficient explanation.
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On the other hand, some of the candidates (11.5%) who scored low marks
(0 to 2.5) mentioned some points but failed to give proper explanations.
They also wrote correctly the introduction on the internet. Some of them
addressed debate procedures as they introduced the motion to the audience.
For example, one candidate introduced as, Thank you chairperson,
headmaster, student and all members of the flow. Other candidates failed to
understand the requirements of the question. These ones mentioned the
benefit of internet instead of points that will cause harm to students from
the internet. For example, one candidate wrote It help on searching
material, It help for learning, It simplify work and It create awareness.
Extract 11.2 provides a sample of incorrect responses.
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Extract 10.1: A sample of an incorrect answer on question 10.

Extract 11.2 shows a response of a candidate who gave incorrect points to
support the motion with incorrect introduction and conclusion.

2.12 Question 12: Computer Handling

This question was optional and it required the candidates to explain four
risks the school faces by not creating a backup.

This question was opted by few candidates. The statistics show that 85
(3.1%) candidates opted this question. Among them 33 (38.8%) scored 0 to
2.5 marks, 28 (32.9%) scored 3 to 6 marks, and 24 (28.2%) scored 6 to 10
marks out of the 10 marks allocated. Figure 12 gives the summary of the
candidates' performance for this question.

Scores
m0-25

30-60
m65-10

Figure 12: The candidates' performance on question 12.
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Figure 12 illustrates that the general performance for this question was
good as 61.1 per cent of the candidates scored above 2.5 marks. The
analysis showed that (38.8%) candidates who scored low marks (0 to 2.5)
failed to explain the risks the school faces by not creating a backup.
Instead, they explained the consequences the school faces for not creating a
backup. For instance, some of the candidates wrote; the school will lose the
students database, the school will incur some expenses to have new
database, the school will incur some expenses to have new database, the
dean would be healed responsible for loosing data that may lead the dean
to be fired. The candidates seemed not to understand that the risks for not
creating a backup included virus attack, unexpected malfunction, disk
failure, natural calamities or computer theft. Some of the candidates
managed to define data backup but failed to explain the risks. One of the
candidates regarded data backup as antivirus; the candidate explained that
data backup help a computer to be away from the virus. Extract 12.1
presents a sample of incorrect responses.
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Extract 12.1: A sample of an incorrect answer on question 12.
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Extract 12.1 shows the response of a candidate who managed to define the
term "back up" and make conclusion but failed to explain four risks the
school faces by not creating a backup.

Furthermore, (32.9%) candidates who had average performance (3 to 6)
marks managed to write the introduction and explained some risks. Some
of the candidates listed the points without giving explanations.

Further analysis shows that (28.2%) candidates who got high scores (6.5 to
10) marks were able to give an appropriate introductions, explanations of
the risks the school faces by not creating a backup and giving appropriate
conclusions. Other candidates failed to explain in detail some of the risks
which led them to lose some marks. Extract 12.2 presents a sample of
correct responses.
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Extract 12.2: A sample of a correct answer in question 12.
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3.0

Extract 12.2 shows the response of a candidate who managed to explain
correctly the four risks the school faces by not creating a back up. The
candidate also, gave the correct introduction and a sound conclusion.

ANALYSIS OF THE CANDIDATES PERFORMANCE PER QUESTION

IN PAPER 2

(PRACTICAL)

3.1 Question 1: Spreadsheets

The candidates were required to read the information given in the
worksheet which showed the end of the year 2019 promotional results of
the Form Two (F2) students from Modern Secondary School. The

following worksheet was given.

Al |l c ol e |l . .. ]l 0.l
1 FORM THREE ANNUAL EXAMINATION RESULTS 2019
E |8
= X £ - =
2 = &8 3| 55| . & ¢ g
3 | 8 | £ 3| |28 B |& 5
-] 2 <
2 £ & s || 8 | & = z e S
3 (50104/23 |Mike J. 87 | 63| 70 | 45
4 (50104/24 |John M. 78 46| 67 | 61
5 [50104/25 |Flavia H. 57 |45 | 87 | 32
6 |S0104/26 |Fred N. 67 | 56| 32 | 45
7 |s0104/27 |FahadA. | 65 | 26 | 33 | 25
8 |s0104/28 |losephB. | 47 | 79 | 8 | 15
9 (s0104/29 |Oliver J. 79 | 58| 54 | 38
10 [S0104/30 |MercyG. | 23 | 27 | 36 | 75
50104/31 |Isa A. 12 |8 | 71 | 62
12 S0104/32 |Deo R. 39 (46| 14 | 65
13 (S0104/33 |Ally Z. 79 |18 | 20 8
14 TOTAL

The asked questions were as follows:

(@) Create the given worksheet and save it as “Modern SS”.

(b) Use the function to calculate the total marks and the average marks for
each student (round off the average marks to one decimal place).

(c) Use appropriate function to generate the position for each student.

(d) Students with an average of 65 and above are to be “promoted to F3”;
students with an average of 50 to 64 must “reseat the examination”

while students with an average below 50 should “repeat F2”. Use
functions to generate the comments accordingly.

45




(e) Insert a row in cell A15. Merge cells (A to J) and type “The total
number of students required to repeat F2”.

(F) Generate a function in K15 which will return the number of students
who scored an average of below 50.

(9) Validate the students marks to be entered by a user to whole number
from 0 to 100 inclusive. Use an appropriate warning message to alert a
user.

(h) Create a three dimensional pie chart (with labelled data) of total marks
for each subject against subject names.

(i) Print your document.

This question tested the candidates’ knowledge on the application of
spreadsheet. A total of 2,466 (88.6%) candidates attempted this question,
out of whom 140 (5.7%) scored 0 to 7 marks, 1,155 (46.8%) scored 7.5 to
16 marks and 1,171 (47.5%) scored 16.5 to 25 marks out of the 25 marks
allocated. Figure 13 illustrates the candidate’s performance in this question.

5.7%

170

Figure 13: The candidates' performance on question 1.

Figure 13 shows that 94.3 per cent of the candidates scored above 7 marks.
Generally, the candidates' performance for this question was good. The
candidates (47.5%) who scored high marks were able to open Ms Excel,
create the worksheet and save it as ‘“Modern SS”. They were also able to
perform most of the required formatting like merging cells and text
orientation to 90° applying bolding and entering the required data
correctly. The analysis revealed that the candidates also were able to use
the functions to calculate total for each subject and each student's averages
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and assigning a position for each student. It was observed that some of
them managed to generate comments for each student based on the criteria
given. The candidates created three dimensional pie charts with labelled
data of total marks for each subjects against subject names and finally print
out their work. This shows that these candidates had enough knowledge
and skills on Microsoft excel (spreadsheet). On the other hand, some
candidates had difficulties in selecting the proper data required to create the
three dimension pie chart i.e. subject names against total subject marks
which led them to lose some marks. Extracts 3.1.1 signifies a sample of
such correct responses.

2l 9
Home | Insert Page Layout Formulas  Data  Review  View  PODF Design Layout Format
=0 ¥ e T v :
A A | 7
Past I Insert Delet FﬂJt - :?da
aste Iu - A § -0 g %1 M nsert Delete Format ind &
- 1 = = 32 ‘ B - « | @Cear Select
Clipboard Font Alignment Number Styles Cells Editing
Chart1 v fe | =SERIES(,'Modern SS'18C52:5F52, Modern S5'18C514:5F514,1)
A B C/D|JE|JF]G[H]I J K L I} N 0 P qQ R S T
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4 50104724 |John M. 18 46| 671 6
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2

e

i

]
5 SUOE [Flaviah. | 51| 45 7] 32| 21 %.] 6[RESEAT THE EXAMINATION AATHENATICS
6 SOIOT6 [FredN. | 67 56 32 4 200] 50.0 7[RESEAT THE EXAMINATION e SENGLSH
7 SUONT [Fahad | 65 26| 3 2] 149 313 10[REPEATFI COUPUTER
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o SUOME [Oliver). | 79| 5 5| 3| 209] 57.3 4|RESEAT THE EXAMINATION
10 S0104%0 [Mercy . | 23|21 3| 75| 161 403 9REPEATF2
11 5010431 Jlsa A, 12 85 7 62] 230 575 3[RESEAT THE EXAMINATION =
12 5010432 |DeoR. 3] 46 1] 65 164] 410 BREPEATFI
13 S010433 [Ally 7. T 18] ] 8| 125 313 1[REPEATF
% TOTAL 533 549] 570] 47 \
B THE TOTAL NUMBER OF STUDENTS REQUIRED TO REPEAT F2

16
1
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§ 8 & § §F i : :
2 £ " = m 0 [ = g
380104123 \Mike J. |87 63 70 45 =SUM(C3:RY) =AVERAGE(C3:F})
4 S0104/44 |John M. |78 46 67 61 =SUM(C4:F4) =AVERAGE(CA:F4)
5 50104125 |Flavia H. |57 45 87 32 =SUM(C5:F5) =AVERAGE(C5:F5)
6 S0104/26 Fred N. |67 56 k7] 45 =SUM(CE:FG) =AVERAGE(CE:F6)
7 50104127 |Fahad A. |65 26 13 25 =SUM(CT:FT) =AVERAGE(CT:FT)
8 S0104/28 |Joseph B. |47 79 B6 15 =SUM(C8:F8) =AVERAGE(C8:F8)
9 50104129 |Oliver J. |79 58 54 38 =SUM(C9:F9) =AVERAGE(C:F9)
10 |S0104/30 |Mercy G. |23 I 36 [£] =SUM(C10:F10)  |=AVERAGE(C10:F10)
1150104131 |Isa A, 12 85 71 62 =SUM(C11:F11)  |=AVERAGE(C11:F11)
12 50104/32 \DeoR. |39 46 14 65 =SUM(C12:F12)  |=AVERAGE(C12:F12)
13 S0104133 (AllyZ. 79 18 20 8 =SUM(C13:F13)  |=AVERAGE(C13:F13)
14 TOTAL =SUM(C3:C13) |=SUM(D3:D13) [=SUM(E3:E13) |=SUM(F3:F13)
15 THE TOTAL NUMBER OF STU
XAMINATION RESULTS 2019
'—
: ¢
[= 2
" -]
0 0
o ]
=RANK(H3 SHE3:5H$13,0) =IF{H3>=65,"PROMOTED TO F3" IF{H3>=50,"RESEAT THE EXAMINATION","REPEAT F2"))
=RANK(HA SHE:5H$13,0) =IF{H4>=65,"PROMOTED TO F3" IF{H4>=50,"RESEAT THE EXAMINATION","REPEAT F2"))
=RANK(H5 SHS3:5H$13,0) =IF{H55=65,"PROMOTED TO F3"JF{H5<50,"RE SEAT THE EXAMINATION","REPEAT F2'))
=RANK(HG SHS3:5H$13,0) =IF{H6>=65,"PROMOTED TO F3"JF{H6><50,"RESEAT THE EXAMINATION","REPEAT F2'))
=RANK(HT SHS3:5H$13,0) =IF{H7>=55,"PROMOTED TO F3" JF{H7>=50,"RESEAT THE EXAMINATION","REPEAT F2'))
=RANK(HB SHS3:5H$13,0) =IF{H8>=55,"PROMOTED TO F3"JF{H8>=50,"RESEAT THE EXAMINATION","REPEAT F2'))
=RANK(HY SHE3:5H$13,0) =IF{H9>=55,"PROMOTED TOQ F3"JF{H3>=50,"RESEAT THE EXAMINATION","REPEAT F2'))
=RANK(H10,$HS3:SHS13,0) =IF{H101>=65,"PROMOTED TO F3" IF(H10>=50,"RESEAT THE EXAMINATION","REPEAT F2'))
=RANK[H11,5HS3:H813.0) =|F{H11>=65,"PROMOTED TO F3" IF(H11>=50,"RESEAT THE EXAMINATION","REPEAT F2'))
=RANK(H1Z$HS3:8H813.0) =IF{H12>=05,"PROMOTED TO F3" IF(H12>=50,"RESEAT THE EXAMINATION""REPEAT F2'))
(=RANK(H13,SHS3:8H$13.0) =IF{H13>=65,"PROMOTED TO F3" IF{H13>=50,"RESEAT THE EXAMINATION",'REPEAT F2')
DENTS REQUIRED TO REPEAT F2 =COUNTIF{H3:H13,"<50") |
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1 FORM THREE ANNUAL EXAMINATION RESULTS 2019

w
R
= E % wl|=
=
E A EIEEIMEIE
5 HEEIHEEEE
= 2l = =z|3| |86 5|o
| 2 £ w w|lolal|lFk| <|a
| 3 |S0104/23 |Mike J. 150] 63| 70 45/278|69.5| 1|PROMOTED TO F3
4 S0104/24 |John M. \46| 67| 61]|252|63.0) 2|RESEAT THE EXAMINATION
5 S0104/25 (Fleeiall ezl el ozl aalonaleccal _clpF SEAT THE EXAMINATION
6 S0104/26 |Microsoft Excel X [RESEAT THE EXAMINATION
7 S0104/27 REPEAT F2
8 S0104/28 RESEAT THE EXAMINATION
9 S0104/29 @ Wrong number, Numbers must be from 0 to 100 |RESEAT THE EXAMINATION
10 S0104/30 REPEAT F2
11 S0104/31 : g RESEAT THE EXAMINATION
Cancel Help

Extract 3.1.1: A sample of correct answer on question 1.

Extract 3.1.1 shows a sampled candidate who entered the data correctly,
merged cells, aligned texts, and entered the correct functions for calculating
totals, average, and positions. The candidates also generated comments and
inserted a three dimension pie chart with the labelled data required.
Likewise, the candidate was able to set data validation rule that prevents
users from entering invalid data in cell. The candidate was also able to set
the validation text to guide the user on the range of data required for that
particular cell.

However, some of the candidates who scored average marks (7.5 to 16)
created a correct worksheet but could not add borders, merge the title, add
data in a pie chart and set data validation that prevent users to enter invalid
data in subject cells i.e. marks from 0 to 100 inclusive. It was observed that
some of the candidates failed to use appropriate function to calculate
position and to generate comments. For example, one of the candidates
wrote “=IF (H3>=65,"PASS")" instead of “=IF (H3>=65,"promoted to
F3", IF (H3>=50,"reseat the examination", IF(H3<50,"repeat £2"))) ".

The candidates (46.8%) who scored low marks (0 to 7) were able to create
the worksheet, enter the data in the worksheet, manage to merge cells in the
worksheet, bold, align and orient texts but failed to write accurate functions
to find totals, average, positions and to generate comments. They also, used
a formula to calculate the total for each subject, position and comment
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instead of using functions. For example, one of the candidates wrote
“=(C3+D3+E3+F3) or =SUM/4” for average. Some of the candidates
created a two dimensional pie chart instead of a three dimensional pie chart
as required. Moreover, they were unable to apply borders, rounding off
students' average to one decimal place and dragging the formula. This
shows that the candidates had poor knowledge and skills on using
Microsoft excel. Extract 3.1.2 provides a sample of an incorrect response to
question 1.

Home | Insert Page layout  Formulas Data Review  View  PDF Design Layout Format

j - General + @ Z
p‘tJ@cOpy- Insert Delete Format &
aste I LAY nsel elete Formal
« < Format Painter HR/Uad $% o o - | @
Clipboard F] Font Alignment Number Cells
| chet2 -~ fe | =SERIES(, Sheet113653:36513,1)
A B C D E F G H | ] K L M N 0
1 MODERN 55
7 g
[
2 g n
S E «
k g IS W z g [}
20 =2 E I '5 0 G} ) In]
[ < z z v 4 S = =
H a] - = @ q x E 3
3 i I5] z - i o il z
z = - ] T ) > 0 0
2 = & 2 pn] v] S [ < a 0 ng
3 5010423 Mike). 87 63 n 45 205 66.25 2 PROMOTEDTO F3 us
4 /50104/24 John M. B % 67 61 32| 63 #N/A REPEAT us
5 50104/25 FlaviaH. 57 45 87 2 m| 555" enja ReSEAT
§ S0104/26 Fred . 67 56 n 5 0] s0” #NJA RESEAT w7
7 S0104/27 Fahad A. 65 2% 3 5 13| 77.25" an/a Repeat ug
8 50104/28 JosephB. 47 E] 86 15 07| 5675 #NJA  RESEAT 9
9 50104/23 Oliver!. 7 58 54 38 ms| 57257 en/a ResEAT .o
10 50104/30 mery 23 21 36 73 161 40.25'#N/A 'REPEAT -
11 S0104/31 Isa A. 2 85 vl 1 20| 5757 en/a RESEAT
12 50104/32 DeoR 39 % 1 65 16 417 #N/A REPEAT L
13 S0104/33 AllyZ. 7 18 0 8 15| 235" an/a RepEAT L A

14 TOTAI
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13 A\ fe | =RANK(H3,F83:8H33)
A B C |D|E|F G H 1 J
1 MODERN S8
S B 5
2128 3z0 g 8 :
§ 15| gz8 & g 7 >
5 2 < V] > =
1 = | 5| s 281 2 Z g 8
‘ U 70[45 =SUM(C3F3) [:AVERAGE(Gaﬂl}]I:RANK{Ha,=53:5H53} |=iF(H33=55,"PROMOTED TO F2","REPEAT")
i 46 67 61 SUM(C&F4)]  =AVERAGE(G4/4) "RANK(HLFS3:8HS)  =IF(H4>=65,"PROMOTED TO F3",'REPEAT')
| 45 §7 32 =SUM(CSIFS]  =AVERAGE(G5/4) "RANKHS,FS36HS3)  =IF(H5=50,"RESEAT")
I 56 3245 =SUM(CE:F6) =AVERAGE(GE/4] “RANK(HGFS3:SHSS)  =IF(HG>=50,"RESEAT")
i % 335 =SUM(CTFY) =AVERAGE(GT/4) =RANKHTFS3:8HS3)  '=IF(H7>=65,"PROMOTED "REPEAT|
" I 79 8 15 =SUM(CRF3) =AVERAGE(GB/4] “RANKHBFS3:3HS3)  =IF(HB>=50,"RESEAT")
T . 58 5438 =SUM(CIF3)  =AVERAGE(G9/4) "RANK[H3,FS3:5HS3)  =IF[H3=50,"RESEAT")
e . b 27 36 75 =SUM(CL0:F0) =AVERAGE(GL0/4 RANK(HIO,FO:SHS3)  =IF(H105=65,"PROMOTED" "REPEAT")
! : L85 7162 =SUM[CLLFL) =AVERAGE(GLL/A RANK(HILFS3:8HS3)  =IF(HLL>=50,"RESEAT")
o+ | 4% 1465 =SUM|CIZFLY) =AVERAGE(GL2/4 -RANK(HIZ FS:SHS3)  =IF(H125=65, PROMOTED","REPEAT')
i i 18 208 =SUM[CI3FI3) =AVERAGE(G13/4 -RANK(HI3,FO3:SHS3)  =IF(HI35=65,"PROMOTED" "REPEAT")
84+ |Degrees

Extract 3.1.2 A sample of incorrect answer on question 1.

Extract 3.1.2 shows the sample of an incorrect response from the candidate
who failed to calculate subject totals, select proper data for the pie chart but
also create a two dimensional pie chart instead of a three dimensional pie
chart. The candidate also oriented some of the heading fields to 84° instead
of 90° and gave incorrect functions to calculate average, rank and to enter

comments.

3.2 Question 2: Management of Database as Information Systems

The question was as follows:
The manager of Korosho Sacco's (KS) decided to shift the members details

from the local database (manual files) to the electronic database due to its
efficiency in data manipulation. As an IT expert, you are required to:

(a) Create a database called “Mkulima” for keeping members details.
(b) Design two tables named "Employee” and "Loan" in the database
created in part (a). The fields for each table are given in the following

table;
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Note: Use the appropriate data type for each field.

Employee Loan

PNo Loan

Nationalld LoadDate

Firstname Monthyl_Installement
LastName Loan_Amount

Sex PNo

Age

Date_Employeed

Salary

Table's descriptions

Validate the age field so that members with the age below 20 should
not be allowed in the database. Use appropriate message to inform
the user.

The letters to be used for gender/sex should be “F” and “M”.
Validate a sex field so that a system should display a message “No
such gender” when a user enters different character.

(c) Create a form by using form wizard and use it to enter the following
records in the employee table. Save it as Employeeform.

PNo NationallD FirstName LastName Sex Age Salary Date Em
ployed
201 | 12234 Alice Shem F 35 850,000 | 5/6/2000
203 | 12454 Daniel Kam M |38 700,000 | 27/1/1999
207 | 22734 Angel Luga F 26 200,000 | 3/4/2008
208 | 12534 Partricia Goha F 40 150,000 | 9/8/2012

(d) Create a form by using form wizard and use it to enter the following

records in the Loan table. Save it as Loanform.

LoanNo LoanDate \ Monthly instalments Loan Amount PNo
1100 6/5/2011 200,000 1,000,000 201
1200 27/9/2006 100,000 1,200,000 203
2000 1/6/2013 50,000 600,000 207
1430 9/2/2014 25,000 500,000 208




(e) (i) Create a query that displays the PNo, NationalID, FirstName,
LastName, LoanNo, LoanDate, Monthly_instalments and a
calculated field “Total” which shows the instalments for each
member per year. Save the query as Loanquery.

(if) Generate a report based on Loanquery created in part (e) (i). Save it
as Loan report.

(F) Print your document.

This question was attempted by 1,541(55.4%) candidates, out of whom
77(5.0%) scored 0 to 7 marks, 341 (22.1%) scored 7.5 to 16 marks and
1,123 (72.9%) scored 16.5 to 25 marks out of the 25 marks allocated.
Figure 14 illustrates the candidate’s performance for this question.

5.0%

Figure 14: The candidates' performance on question 2.

The general performance of the candidates in this question was good
because 95.0 per cent scored above 7 marks. Majority of the candidates
(72.9%) who scored high marks were able to create the database correctly
with its appropriate name and data types. It was noted that some candidates
designed tables and created forms with proper names and a query which
displays the instalment of each member per year. Moreover, some of the
candidates were able to validate the field values for “Age” and “Gender”
together with the appropriate validation text to be displayed when the
rule/condition is violated. They also inserted a calculated field called
“Total” in the Loanquery. Some of the candidates wrote correctly the

53



formula for finding members’ total instalments per year. The correct
formula was supposed to be written as “Total: [Monthly_instalments]*12”.
This revealed that those candidates had enough knowledge and skills
required to design and manage database systems. Extracts 3.2.1 shows a
sample of correct responses.

All Access Objects ® «
| Tables . =
Z3 Employee B Employee
B3 toan Field Name / Data Type \
| Queries ~ 2 |f[¥ |pNo Number
¥ Loanquery || National ID Number
P _J | | First name Text
E8 Employeeform | __|Last name Text
m | |Sex Text
oo | |Age 'Number
| Reports B | Salary Currency
@ voanReport Date_Employed k Date/Time /
All Access Objects ® «
Tables A
& Enployee 3 nploee
L T PNo | NationallD | Fistrame -] Lastrame -] Sex «|Age +| Sdlary - Date_Empc:
s =~ T ® 01 12234 Alice Shem F 3 85000 5/6/2000
3 Loanquey B M 14kDaniel  Kam M B 700000 27/1/19%9
|Forms B 8 207 22734 Angel Luga F 2% 200,000 4/3/2008
@ employeetom 8 208 1253 Patricla ~ Goha F 40 150000 8/9/2012
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b

E=] Employee

¥ | PNO
National ID
First name
Last name

[B sex

Salary

Field Name

Number
Number
Text
Text
Text
Number
Currency

General Lookup
Field Size
[Format

Input Mask
Caption
|Default Value

|Validation Rule
‘Validation Text

["For ™
. No such gender

'Required

Allow Zero Length
Indexed

\Unicode Compression
IME Mode

IME Sentence Mode
Smart Tags

No

IYes

No

Yes
'No Control
'None

5 Employee

Field Name

? PNo
National ID
First name
Last name
Sex
Age
Salary

General Lookup
[Field Size
|Format

Decimal Places
Input Mask
Caption !
Default Value 0

[Long Integer

jAuto

Data Type I
Number

Number
Text
Text
Text
Number
Currency

Validation Rule
Validation Text

>=20
Employees' age entered should not be less than 20 years

|Required
Indexed
Smart Tags
Text Align

'No
‘No

i General
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1 toanreport
= Loan report 08 December 2019
p 15:31:25
PNo  NationallD FirstName  LastName loanNo  LoanDate Monthly instalments Total

‘ 201H 12234HAIice HShem H 1100H 06;‘05!2011” 200000H 2400000‘

‘ 203H 12454H[Janiel HKam H 1200H 27}09!2005” mmH 1200000‘

‘ 203H 12534HPatricia HGoha H 1430H 09/02!2014” zsoooH 300000‘

‘ 20?H 22?34HAngeI HLuga H 2000H 01;05!2013H scmoH 500000‘

4

Extract 3.2.1: A sample of correct answer on question 2.

Extract 3.2.1 shows a sample of a candidate’s response for the one who
managed to design the table correctly with appropriate data types as well as
the validation rule and validation text for Age and Gender fields. The
candidate also managed to create a loan report which retrieves data from
the loan query as demanded in the question.

On the other hand, (22.1%) candidates who scored average marks (7.5 to
16) managed to design tables, create forms from wizard and generate loan
report from the loan query created, although they had difficulties in
choosing the appropriate data types for particular field names. For example,
some candidates assigned the data type “Memo” to FirstName and
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LastName fields instead of data type “Text”. This indicates that the
candidates had insufficient knowledge on the application of data types.
Others were incapable of setting the validation rule and validation text,
creating the relationship between the Employee table and Loan table as
well as linking the appropriate field names for the relationship.

Lastly, a few candidates 77(5%) who scored low marks (0 to 7) had no
knowledge and skills on the basics of Ms Access database. Some of them
failed to create the database as instructed in the question. Others used Ms
Office-word to create a table instead of Ms Access. On the other hand,
some of them failed to choose appropriate data types for particular field
names. It was noted that some of the candidates managed to create the
database, setting primary keys, creating forms and designing query but they
faced difficulties in saving the database as well as using wrong fields in
creating the relationship between database tables created. Extract 3.2.2
shows a sample of an incorrect answer from one of the candidates.

&4 Loan

Field Name Data Type
¥ LoanNo
~_|LoanDate
| Monthly_instaliments
| Loan_Amount

|PNo
31 toanquery’

EMPLOYEE

LOAN

7 pNo ]

NationallD LoanNo

FirstName LoanDate
LastName Monthly_instalmen
Sex Loan_Amount

Age ¥ PNo
Date_Employed
Salary

Field: | PNo NationallD FirstName LastName LoanNo Monthly_instalments, TOTAL: [Monthly_instalments)-[Loan] y
Table: | EMPLOYEE EMPLOYEE EMPLOYEE EMPLOYEE LOAN LOAN

Sort:

Show: %] 1%} %] %}

Criteria:
or:

Extract 3.2.2: A sample of an incorrect answer on question 2.

Extract 3.2.2 shows a sample of a candidate’s response who failed to assign
the correct data type to the field names as well as insert correct formula
for calculating employee instalments per year.
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3.3 Question 3: Desktop Publishing and Presentation

(@) Use

Microsoft office Publisher to design the following Student Identity

Card:

00000000 0000000000

Examination Number: S106/0056
ADMISSION NUMBER: 2010-02-2019

200000000000000000

Monday, May 19, 2023
&

[egegegicdede do-gigegdedidede todedediadedige Jo-dedege oo didete de-gede-g

Identity card descriptions

The number S106/0056 should be replaced by your Examination
Number.

The date must be the current.

The background colour of the contact and heading should be Pink.
You can use any border and picture from the picture library available
in your computer.

Your Identity Card must be grouped.

(b) You have been appointed by your school management to prepare a
presentation which should be held on the Form One students careers day

in
stu
As

the orientation week. The aim of the presentation is to sensitize the
dents about the Information and Communication Technology (ICT).
an expert of Information and Computer Studies (ICS), prepare five

slides as follows:

Insert uniform appropriate design view.

Include your Examination Number on each slide.

The slide should run automatically after 5 seconds.

Insert the fixed date and slide number as footer/header of your
slides.

Use mmmsymbol to link each slide with the first slide.

Use clip art to insert the picture of the laptop computer in the first
slide.

58



(i) Slide 1 should include the title "Information and Communication
Technology™ and three active links namely Application, Opportunities
and Advantages (use art tools to create links). (HINT: Each link must
connect the appropriate slide).

(i) Slide 11 should include two areas where Information and
Communication Technology (ICT) has been applied.

(iii) Slide 111 should include two career opportunities available in the field
of ICT.

(iv) Slide 1V should include two self- employments which can be achieved
by using a computer or other ICT devices.

(v) Slide V must include the conclusion of your presentation.

(c) Save and print your document.

A total of 1,461 (52.5%) candidates attempted this question. Out of whom,
195 (13.3%) scored 0 to 7 marks, 666 (45.6%) candidates scored 7.5 to 16
marks and 600 (41.1%) scored 16.6 to 25 marks out the 25 marks allocated.
Figure 15 represents the candidate’s performance on this question.

Figure 15: The candidates' performance on question 3.

The general performance for this question was good because 86.7 per cent
of the candidates scored above 7 marks. Some of the candidates (41.1%)
who attempted this question were able to score higher marks due to
sufficient skills and knowledge on Ms Publisher and Ms Power Point. Most
of the candidates were able to design the student’s identity card according
to the instructions given, whereby, most of them were able to open the
Microsoft office publisher, insert the text boxes, typing contact
information, underline email, insert picture, bevel shape, background
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colour in contact information, heading, border and eventually print the card.
However, it was observed that some of the candidates under this category
had difficulties in grouping the items inserted in the card, inserting the
current date but instead they inserted a fixed date. In part (b), the candidates
were able to open the Ms Power Point to create slides. Most of the
candidates were able to insert the design view, insert on slide footer the
fixed date, slide number and the examination number. They were also, able
to set the correct time for animation and insert the laptop picture.
Moreover, the candidates were able to apply the general skills and
knowledge of ICT in the community by attempting the parts that required
them to write the application of ICT from the different areas, determine
different careers that are associated with the ICT, and the appropriate self-
employment that is contributed by ICT. Extract 3.3.1 shows one among the
best candidates’ responses to question 3.

Examination Number: S0189/0058
ADMISSION NUMBER: 2010-02-2019

%Mfonday, November 11, 2019

y
i
il
— :
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Applications Opportunities
INFORMATION AND COMPUTER STUDIES
» In schools » Computers technicians
ICT can be applied in schools to enable the Through ICT people decided to be computer
students to study various matters concerning technicians
with ICT and carrying practical
— » Computer administrators
_ + In hospitals Also people can be administrators through

Also ICT can be applied in hospitals to enable
the doctors to store patients records and also

to diagnose the infections and diseases l .

studying the leaming of ICT

S000-0001

1m0 3

3

Selfemployment Conclusion

» Creating cards, letters. ICT is very helpfully in many countries since it
Also people through ICT people may able to help to simplify communications and also it
create invitation cards that enable him/her to help to simplify works
get income

» Computer experts
Also through ICT people can expert on
computers

N

4 20045 5

Extract 3.3.1: A sample of a correct answer on question 3.

Extract 3.3.1 shows one among the candidates’ correct responses to
question 3 where the candidate able to insert border, colour and typed the
information required. The candidate was also able to create slides, create
links among slides, and insert back arrow and laptop picture.

The candidates (45.6%) who scored average marks (7.5 to 16) were able to
open the Microsoft office publisher, to add the text boxes, type the contact
information, underline email address and to insert the picture. However, in
part (a), they failed to insert the bevel shape on the card and type on it the
contact information, insert background colour and borders. In part (b), the
candidates were able to prepare the correct slides but failed to design and
write the content within the slides as required in the question. Some of the
candidates failed to create links which could not connect to the specified

page.

Likewise, the candidates (13.3 %) who attempted this question scored low

marks (0 to 7). In part (a), some of the candidates were able to type the

address information such as examination number, admission number and
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saved their work. Others failed to insert borders, pictures, underline the
email address and also could not group the card. In part (b), the candidates
failed to create links, insert design view, fixed date and slide number in the
slide footer and examination number. The candidates also failed to set time
for animation that was to run each next slide in every 5 seconds, insert a
back-arrow that links on slides 2 to 5 with a link to the first slide. Some of
the candidates did not manage to insert the laptop picture on the first slide.
The analysis showed that these candidates failed to perform the mentioned
activities due to lack of skills in the specific aspects. The candidates also
were not able to mention application of general ICT knowledge like
application areas of ICT, self-employment from ICT and career
opportunities that can found from ICT. Some of the candidates used
Microsoft Office Word to design the card and presentations instead of using
the appropriate applications like publisher and Power point. Extract 3.3.2
gives one among the incorrect responses in question 3.

I e

iew Format Format

q &/ M I_I j L|_;‘j":l ﬂ [y Bring Forward ~ ':%,icroup 34 Find ~

) [y send Backward ~ II"1 2 Replace
r= Styles Draw Picture Table Shapes Wrap o
= = > Text Box = > Text - |2 Align = Sk Rotate — L Select -

Wi |
1

= il
e W

aph Styles Objects Arrange Editing
E E

=R

STUDENT IDENTITY CARD

Kengwe secondary school
Adress: |12-Dar gs salaam
Phone; +25555-555-555
Fax; +2555-2555-5555

Examination number; s.106/0056 i
ADMISSION NUMBER; 2010-2-2019 |
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INFORMATION AND AREASWHERE INFORMATIONAND CAREE OPPORTUNITIES

COMUNICATION TECHNOLOGY COMUNICATION TECHNOLOGY AVAILABLE IN THE FIELD OF ICT
1 2 3
SELF-EMPLOYMENT WHICH CAN CONCLUTION YOUR
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Extract 3.3.2: A sample of an incorrect answer on question 3.

Extract 3.3.2 shows sample response of a candidate who inserted some text
boxes but failed to group them, insert pink colour. The candidate also did
not type E-mail address, border and was also the card contents in part (a).
In part (b), the candidate was unable to insert back arrows signs and link
the slides. The candidate also failed to provide the relevant content on ICT.

4.0 PERFORMANCE OF CANDIDATES PER TOPIC

The analysis done in relation to each topic showed that most of the
candidates performed well. It was observed that the candidates performed
well in multiple choice items (91.3%) which were set from the following
topics: Computer Evolution, Database as Information System, Computer
Handling, Presentation, Computer Hardware, Computer Software, Word
Processing, Web Designing and Computer ~ Networking. The performance
was also good in the questions set from the topic on Desktop Publishing
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(86.9%), Web Development (84.6%), Word Processing (83.7%), The Internet
(82.0%) and Spreadsheet (68.4%). The candidates’ performance was average
in the question based on the topic on Computer Handling (61.1%), Computer
Evolution (60.5%), Database as Information System (58.9%) and Computer
Network and Communication (36.7%). This performance is due to
insufficient knowledge on the concepts taught under these topics. Their
performance was poor in the question based on Multimedia (28.3%).
Because, these candidates lacked practical skills on Multimedia. The
Appendix shows the performance of the candidates for each topic.

CONCLUSION AND RECOMMENDATIONS

CONCLUSION
Generally, the candidates’ performance in the 2019 Information and

Computer Studies Examination was good. However, some of the candidates
had difficulty in attempting a few questions due to insufficient knowledge on
the tested concepts; lack of practical skills; and failure to understand the
demands of the questions.

The analysis of the candidates in each question has shown that majority of
the candidates 1,926 (71.7%) had difficulty in attempting question 10 in
paper 1 which was constructed from the Multimedia topic. These candidates
did not know the basic concepts and how to combine a picture, a text, video
and audio data. This implies that most of the candidates had insufficient
knowledge on the Multimedia concepts.

RECOMMENDATIONS
In order to improve performance for the Information and Computer Studies

examinations, the following are recommended:

(@) Education stakeholders, such as parents and school managers, should
ensure that schools have ICT laboratories equipped with necessary ICT
facilities which will improve teaching and learning process. Such
laboratories will improve teaching and learning and ultimately
performance will be improved.

(b) Since the data showed evidence for lack of knowledge on some topics,
it is recommended that teachers should provide more exercises, tests
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and examinations to enhance students’ mastery of theoretical concepts
and practical skills.

Teachers should advise students to read questions carefully so that they
can understand them well and adhere to the given instructions before
attempting them. This will be important because it has been observed
that one of the causes for failure is candidates’ misunderstand of the
questions.

Students should be encouraged to put more efforts in learning English
Language. Failure of students to use English language appropriately has
been observed in essay type of questions.

The candidates should read the examination instructions and questions

carefully so as to understand clearly the requirements of the questions
before answering them.
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APPENDIX

Analysis of Candidates Performance per Topic

Percentage of

No. of Students who
S/n Topic . Scored 30% | Remarks
Questions
Marks or
Above

7 | Computer Handling 1 61.1 Average

8 | Computer Evolution 1 60.5 Average

9 | Database as  Information 2 58.9 Average
System

10 | Computer  Network  and 1 36.7 Average
Communication
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